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x 80% = 8

x 40% = 22.8

x 10% = 3.6

x 70% = 65.1

x 30% = 28.8

x30% = 3.3

x 40% = 37.2

x 30% = 19.8

x 80% = 73.6

x 50% = 35.5

www.snowmath.com

[ara:

x 10% = 8.9

x 60% = 10.8

x 40% = 18

x 60% = 33

x 60% = 50.4

x 10% = 1.6

x 60% = 37.8

x20% = 5.2

x10% =2.9

x 90% = 64.8

Orenka:
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[TporieHTs! uncen (0OTCYTCTBYIOIIEE YHCIIO)

Nwms:

10 x 80% = 8

57 x40% = 22.8

36 x 10% = 3.6

93 x70% = 65.1

96 x 30% = 28.8

11 x30% = 3.3

93 x40% = 37.2

66 x 30% = 19.8

92 x 80% = 73.6

71 x 50% = 35.5

89 x 10% = 8.9

18 x 60% = 10.8

45 x40% = 18

55 x60% = 33

84 x 60% = 50.4

16 x10% = 1.6

63 x 60% = 37.8

26 x20% = 5.2

29 x10% = 2.9

72 x90% = 64.8
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Jlara: Orenka:
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